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Calculus |

Lecture 27
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|
DIKERVER Y az(i*xz)/a"/a
Q) Y- X-Si@

v e NP TP D (N R o
_A\’N)_C,l.gmx +XCosx e 'SMK 7&[05%

Oct 15-7:15 AM



October 15, 2024

8“”’“— RS X Ln—: 1

x
) $1ad Y ‘E:l_t7 f%:%
\_:Z(i SCL
4 X x4
W dy 10)-xd
3) fiad ;\‘% -2

X
Aesthes Micthod o,
x *Jg i M (p

K—i X 51:1 “82—3\‘%;{?—
Twplies b\ﬁa rdg - ~ .
ETE SL R e
i\_‘ﬁ__i
2 ’X_?»
Ax 2> e
S T
(X—\)"KZ (X*\)z
Oct 15-7:39 AM
2635 -~ \Y_g -3
) v y y
S\‘\ Ax a aéﬂa: ‘Z‘X 2
Vo Vo AX
) b 4 do __ 2X
L% ¢y 4w -0 dx 2
/&//ZX | y I * al/a
© v aé\%‘o v &Y
-5 5\, 5 Ix x‘/a
< N~ dy 239
Ax Ix
Y. 5|8
29 . _o: )%
X

Oct 15-7:46 AM



October 15, 2024

Sied ‘%% 5 65 *)(283: 1\-an

4071 4191 419040
sy 40 1y 4 U]‘L';er o\xb] 0 *ﬁ‘}) Y +X-3J—jﬁ]

w‘ix oy R)

{53 xs “\]A‘ﬁ 4xY — ?-th

dv 40y ~2x Y’
X syl andy-ad

Oct 15-7:55 AM

Snd 30

Tan L = x v Y

. Din X2 4y
sﬂxﬁ -_n_éz -1+ T
Led = Y

Sec (\(') la_> 8 *’U

Sec X — Y- K\

‘(’)ec6 6 [& ”‘SQ(U;J\X
v Ysec 4 — ~
X 9 kaecz“\‘Tﬁ

Oct 15-8:04 AM



§ind eqn o8 he T lme 1o the Sruph

Ve
o+ X‘é \—62:3 oY (‘X,i)
~

AN \*ee\ EW ese dy

3 @Y

RS U‘ﬂ ;\—Tﬂ @

Prodwt Ru\e

o (1)
(1) +1 v+ m «2m=0

3 ¢3m=0 m=-1
$-1 =—1(x-1)

Oct 15-8:11 AM

October 15, 2024

$ind eqn of the Tan. line To the ovaph
& \
LS NE (9-><"'+atf—x) ot (0,%)
\_/_\/—\—/
ro\\'og.
" %\%9 = o v _ 2 52 :
%42 - A(2X32 ).
| ﬁn‘“—l}
2% +ag\ 9 - (25 *23 XW‘X m“ 1]

P LW ot oo Yo
2wm-m= 1

m =1 en -q m=1

meem-l Ty )

Oct 15-8:17 AM



October 15, 2024

‘(’} = g(x)

Tongent |ine

4 - 5= m (X~
“ = 5 « SIE&B(LQLX
)

(S«cx) ~ S 5 (@) x—% |
Linea J\:??Y‘GX.UN\OC\TOV(

Oct 15-8:27 AM

Lotfimate [4 4

Nour Calc >.005
M1 =|2.0245 45673

§00=9x S0y ~ Ha) + S — o)

=4 Jx = ﬂ + ;fﬁ(x_q)
S'(x)z—i? N .
S Ix ~ 2 v L (x )
% 2+ (4t )
:a*\ﬁ(.i)
. -
ST T

Oct 15-8:30 AM



